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RAILWAY SAMPLE QUESTION PAPER

1. Who among the following was the Constitutional adviser to the Constituent Assembly of India?
(@) M. C. Setalvad  (b) K. M. Munshi (c) Jawaharlal Nehru (d) B. N. Rau

2. The first Yoga University was established at—
(a) Bodh Gaya (b) Mumbai (c) Monghyr (d) Kolkata

3. Which Zone is the largest in Indian Railways?
(a) Central Railway (b) Northern Railway (c) Eastern Railway (d) Western Railway

4. Machael Ferreira is associated with which of the following games?
(a) Chess (b) Snooker (c) Golf
5. The first black Nobel prize winner of literature in the

(a2) Tom Morrison (b) Luther King

6. Alvaro Silva Calderon was appointed as'
(a) OPEC (b) FIEO

7. Which one of the following grows unde
(a) Cabbage

9. The Mahabalipura ilt by-the king of Dynasty

(@) Gup (c) Pallava (d) Kushana
10. Which city i \ is\k as the forbidden city :

(a) Aberdeen b) J& i (c) Mecca (d) Lhasa
11. Who founded t hi dynasty of Punjab?

(a) Vasumitra (b) Kallar (c) Jayapala (d) Mahipala
12. The rotational\motion of earth is maximum at the—

(a) North pole (b) Tropic of Capricorn

(c) Equator (d) Tropic of cancer
13. CTPN : DSQM : : MUSK?

(@) NUTL (b) NTTJ (c) NTTL (d) LTRS
14, The headquarters of Northern Railway is at

(a) New Delhi (b) Guwahati (c) Gorakhpur (d) Mumbai (V.T)
15. Of the total water on the earth, fresh water reserves constitute approximately

(@) 4.5% (b) 2.7% (c) 1.2% (d) 5.8%
16. The river that does not form delta is

(a) Mahanadi (b) Tapti (c) Krishna (d) Cauvery
17. The name of Lord Cornwallis is associated with the

(a) Dual government (b) Maratha wars

(c) System of subsidiary (d) Permanent settlement
18. How many training institutions of Railways are in India?

(a) Three (b) Four (c) Five (d) Six
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20.

21.

22.

23.
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30.

31.

32.

33.

34.

35.

Communal electorate in India was introduced through which of the following acts?

(a) 1909 (b) 1919 (c) 1935 (d) None of these

The foundation of Indian Vedanta philosophy is—

(a) Ram Charit Manas (b) Mahabharat

(c) Puranas (d) Upanishad

Who was the founder of Brahmo Samaj?

(a) Raja Rammohan Roy (b) Aurobindo Ghosh

(c) Vivekanand (d) Dyanand Saraswati

If x means -, + means +, + means +, - means X then find the value of 13 - 12 + 400+ 20 x 100

(@) 1/760 (b) 76 (c) 176 (d) 186
Besides Mahrashtra, Karnataka and Goa, which of the following is the \fourth
Railway Project?

(a) Kerala (b) Tamil Nadu

State for Konakan

Four prime numbers are arranged in a and that of
last three is 1001. The largest prime num

(@11 (b) 13

The first Asian Games were held.in

(a) Manila (d) New Delhi

A watch becomes fa [ & atper cent does it become fast?

(@) 50/144 % (d) 5/24 %

Which ofthe Yollo [ mber of International Coffee Organisation?

(@) India (c) Kenya (d) Vietham

The bauxijte\ore

(a) Musaba 8 (c) Koderma (d) Palamu

If the radi A Ci increased to 3 times. Then how many times will its circumference be
increased?

(a) 2 times (b) 1/3 times (c) 9 times (d) 3 times

First Indian Laboratory (and India to be the 26th country) to be accredited by the College of
American Pathology is:

(a) Cipla lab (b) Speciality Ranbaxy Ltd

(c) Zydus Cadila Ltd (d) Sun Pharma lab

The last king of Maurya Dynastry was

(a) Brihdarth (b) Kunal (c) Samprati (d) Salishuk

A disease which spreads by contact

(a) infection (b) contagious (c) contiguous (d) uxoring

Blue Ocean, the World’s most powerful Supercomputer, is specifically designed for:
(a) NASA (b) US Naval Oceanographic office

(c) US Federal Reserve Bank (d) US Intelligence Agency

Which of the following pairs is correct?

(@) Bonn — Danube (b) Baghdad — Tigris (c) Rome — Seice (d) Paris - Tiber
Ist developing country in the world to make use of fire optics technology is:

(a) China (b) Japan (c) India (d) Vietham
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Direction (36-37): Choose the word which best expresses the meaning of the word.
36. Sedentary

(a) Material (b) Sluggish (c) Slash (d) Mischief
37. Gregarious

(a) Clumsy (b) Pugnacious (c) Turbulent (d) Saciable
38. Which of the following is not a Free Trade Zone?

(a) Kandla (b) Mumbai (c) Visakhapatnam  (d) Trivandrum
39. If you subtract — 1 from + 1, what will be the result?

(A) 2 (B) -2 ©o
40. Zimbobwe was formerly known as

(a) Rhodesia (b) Mali (c) Namibia

B

ANSWQ— WAY SAMPLE QUESTION PAPER
1. (d) 2& 4.

©) 3, © () 5, @)
6. @) 7 ©) 8. ) 9, © 10. (d)
11. ©) 12. @) 13. (0) 14. @) 15. (b)
16. (b) 17. d) 18. © 19. @) 20. (d)
21. @) 22. (b) 23. @) 24. (0) 25. (d)
26. @) 27. d) 28. ) 20. ) 30. (b)
31. @) 32. (b) 33. () 34, () 35. ©
36. (b) 37. d) 38. ) 39. @) 40. @)
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